STA 2023H     Homework Project  Due November 16

Approximate Power of Z-test Using Estimated SD

· From my EXCEL Programs webpage, download the file “Approximate Power for 1-sample and Paired-sample z-test and t-test” program

· For Population Mean, set the value to 100 (cell B4), also set mean under null hypothesis to 100. Set  to 10,  n to 20, and  to 0.05

· Copy the values from cells C3:D1002 by highlighting them and selecting EDIT ( Copy (or clicking on COPY button

· Paste these VALUES to cells E3:F1002 by placing cursor in cell E3 and selecting EDIT ( PASTE SPECIAL then clicking on VALUES

· Obtain P(Reject H0) upper-tailed

· Repeat this process for all combinations of the following parameters (holding 0=100 and =0.05 for all cases)

n=20, 50, 100

· For each value of , plot P(Reject H0) versus , with separate lines for each sample size (Put  in the left-most column, and the probabilities in the columns to the right and choose XY-Scatter from chart wizard and the picture with smooth lines and no dots (second row, second column on my version)

· For eachsample size, plot P(Reject H0) versus , with separate lines for each   value of 
· All else being equal:

· As  gets gets further from 0, P(Reject H0) ___________________

· As the sample size increases (and (0), P(Reject H0) ___________

· As  increases (and (0), P(Reject H0) _______________

